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DERIVADAS

Hallar la derivada de las siguientes funciones:

f(X) “34 2y —ﬂx—5
2 5 7

f(X) =x[(x+2)
f(X)=x*>Q7-2X)

f(X) =(2x-5)[(4-3x)
f(X) = (-x* —2) [(BGx—7x%)
f(x) =(3x* -3x* +5)*
f(X) = (L-2x+3x* - 4x°%)°
2x+5

JOEES
-2

=23

f (x) = 6x> - 3x*
f(x) = (3-4x-5x%)*

f(x)=%

\_/ (_;\)|><U.|

f(x) = (x* -

x+5
+6

T =2

x* =3x% +7x
T = 2x+5

(2x+3)°
(3x* - 2x+6)?

f(x) =/

1+x

te) =12

f(x)=3x-5
f(x) =+/3x —4/3-x

f(x) =

1) tfox? - 3x+ 2)°
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f(x) =

2x? -3x+6

2X—5x% + x°

f(x) =
(2x—8) [{3x—4)

f(x)=2R/x"-1
f(X)=x*+Vx*-2
f(x) = \@+i/§—%
f (x) = sen (5x - 3)

f (X) = cos 3*
f(X)=Ln(7x+2)

f (X) = cos (4 -9x?)

1-x
f(x
(x) = T+ x
f(x)=x3/3x* -1

f(x)=3/Lnx

1‘(x):seni2
X

f(x) =4/2%
f(x) = cos¥/3x
f(X)=Ln(x*+7)

x? +1

f9="5"

f(X) = x[&*

_ 2-5x°
f(x)= Ln( 2 j

f(x)=3x5
f (X) — e(3x4—5x)2

3 _ 2 _ _
2X° =3x° —-2x—-4 a4,
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f() =

+(5 -2)°

X% —3x
-5

t0)==

35x2 -4x

f(x) =

f(x) =3 +¢

f(x)=2x"-3x"

f(x) = (x* +2)Ln(x? +2)
1-3x

F(x) = +(5x-2)’

3x° +4)°
f(x ZK—L
() 5x3 — x

f (X) = sen (x* —1) + cos 3x

-1 X
f(x)—Ln(X_lj

f (x) =4/sen (3x* —2x)

1

f(X)zseni%x

f (x) = (cos 2x)°* — >
ex—l

sen X

f(x)=3/Ln (x* -1)
f(x)=%2x-1

2+3x
1++/x
e’ -1
e +1

f(x) = (3x-1)2**
f(x)=

f(x) =

f(x) =

F(x)=—

log, (x* —2x+1)



